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& 8,584
= 20,028
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01 QI E A EXR (NI ) 858,112 851,520 6,592
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08 m=Jl&otistE = 84,266 96, 127 A 11,861
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= 50,000
o= 15,000
= 35,000
AEtdsg2Al| =44 8,340 7,780 560
201 et 9| 3,840 3,280 560
01 AP 2t 2] H| 3,840 3,280 560
OEAARE 22 200,000 = 107K 2,000
OrEAHA=Y &g =¢ 70,000 *4H «23] 560
OMNREE 7¢ 320,000 43| 1,280
202 o4 | 4,500 4,500 0]
01 2L I 4,500 4,500 0
OrstHA=Y SX&e E oyl 4,500,000& 4,500
NEZ JUER 4 3,210,630 4,928,745 N1,718,115
= 169,310
J| 113,592
& 1,625,060
= 1,302,668
BAY SAME MA2HED XS 128,000 160,000 A 32,000
402 SI2FXHE0| & 128,000 160,000 A 32,000
01 CIZIXIEANSEXZ (M) 128,000 160,000 A 32,000
OEtAY =Spts M2Hd&ED XH
666,665 *480m *40/100 128,000
Mol AMIE Y & S& s X3 2,400 2,400 0
201 gBt24 | 2,400 2,400 0
01 AP 22| H| 2,400 2,400 0
OMolER =& SAHKNE 8,000 x4 x75L 2,400
W=MAAIES S X 283,980 310,000 N 26,020
J| 113,592
& 51,116
= 119,272
402 IV X201 & 283,980 310,000 N 26,020
J| 113,592
& 51,116
= 119,272
02 BIZtXIEANYEX(0OIETHS) 283,980 310,000 N 26,020
OFTA b= DEE AA Sl
18,932, 000& *30= Jt*50/100 283,980
J| 113,592
& 51,116
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402 BI2H X =20l M 73,000 94,900 A 21,900
01 SIZEXIEANSEXR (MM A) 73,000 94,900 A 21,900
O A PAOFAHEY 2H N
730,000 *200ha*50/100 73,000
FUHES 2% Il 8,500 8,500 0
201 et d| 2,500 2,500 0
01 AR 22l ] 2,500 2,500 0
O&A AR E 100,000 =104 1,000
OoARESE 500,000 33| 1,500
202 044l 6,000 6,000 0
01 2L Y| 6,000 6,000 0
OJuE& sX&e S o] 6,000,000& 6,000
sHHHXOE2EE3 AtY 31,919 27,905 4,014
= 12,768
& 5,745
= 13,406
402 BI2H X 20| M 31,919 27,905 4,014
= 12,768
o= 5,745
= 13,406
02 QIZEXIEAISEX (0| XM THL) 31,919 27,905 4,014
OsgolHAoE as3t AIY
13,000€ *4,910.5m x50/100 31,919
= 12,768
= 5,745
= 13,406
NEESES HILHGIRA XN (HEAY) 378,305 416,400 A 38,095
o=t 315,254
= 63,051
402 BI2H X 20| M 378,305 416,400 A 38,095
o= 315,254
= 63,051
02 QIZEXIEAIS EX (0| XM THL) 378,305 416,400 A 38,095
OXNHEZE=Z HHotA X
96,000 «6,567.79m 60/ 100 378,305
= 315,254
= 63,051
&0 XHAH K& 150,000 250,000 A 100,000
402 812t XHE0| & 150,000 250,000 A 100,000
01 QI EANSEXZ (M) 150,000 250,000 A 100,000
O&DOF XM A& 150,000
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SR SAZNY SHAY (3D HOSAAH AY) 1,300,000 1,500,000 200,000
(MEHALY)
& 1,200,000
= 100,000
307 2iztol & 1,300,000 1,220,000 80,000
& 1,200,000
= 100,000
02 QIZ2IA AAIE E X 1,300,000 1,220,000 80,000
OS2 SAZMY SH(JLEX) 1,300,000
— AN 2 190,000,000 =104 &~ 190,000
& 190,000
—uwE L AOlL 5,000,000& *23| 10,000
= 10,000
— 29 &g 10,000,000 1A 10,000
& 10,000
— RS 22X A 350,000,000& »1AH 350,000
o 250,000
= 100,000
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—E2E MZ 10,000,000& x4 = 40,000
o 40,000
— H2THEE AIEAIS 5,000,000& *10= Dt 50,000
& 50,000
— o 50,000,000 x2= 100,000
o= 100,000
—0AEHEH =¥ 100,000,000 =124 100,000
o=t 100,000
ANER0S s K& 174,712 303,993 N 129,281
= 69,885
& 31,448
= 73,379
402 BI2H X 20| M 174,712 303,993 N 129,281
= 69,885
= 31,448
= 73,379
02 CIZEXIEAIS EX (0| THL) 174,712 303,993 N 129,281
OAMEJWES U3 ALY
49,917,700 704 A~ x50/ 100 174,712
= 69,885
& 31,448
= 73,379
B AEE KM (1-MCP) X A 150,000 0 150,000
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L2 NEGRA 2EEWAM XNEAY 100,000 90,000 10,000
402 RI2EXt20| ™ 100,000 90,000 10,000
01 212t 2 AL B (RERTH ) 100,000 90,000 10,000
OAl&steA ESuHMH X
6,500% *30,769m x50/ 100 100,000
olah =X K& A 196,500 280,000 A 83,500
402 RI2HXt20l ™ 196,500 280,000 283,500
01 212t 2 AL E = (REM ) 196,500 280,000 83,500
OelaaidteaAld XI&
1,400& *242, 142m x50/ 100 169,500
OoluEX2el olME XA
70R& *771,420m x50/ 100 27,000
22 SsZ2IM 4 NAMY 135,000 0 135,000
= 75,000
< 18,000
[ 42,000
307 21201 A 32,400 0 32,400
= 18,000
< 4,320
e 10,080
02 QIAFAAFEX 32,400 0 32,400
Oog&2st 32,400
—=sZZMd ws  6,000,000& *43]%30/100 21,600
= 12,000
< 2,880
[ia 6,720
~ZEIYN 2aY
10,000,000& * 141 *90/100 9,000
= 5,000
< 1,200
[ia 2,800
— =MXEAM M= 500,000 *43]+90/100 1,800
= 1,000
< 240
s 560
402 QIZ2HAHE01 M 102,600 0 102,600
= 57,000
< 13,680
s 31,920
02 QI E2AIS EZ (O THS) 102,600 0 102,600
OMAH B 102,600
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3,497
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MW
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8,160

Mo

02 AHFHAEEE 23,314 0 23,314
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11,657

3,497
8,160

MR
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113,190
357,000
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201 L4 2,000 1,400 600
= 1,000
s 1,000
03 & Ar2 I 2,000 1,400 600
OQIEtAIS A MHIA St =
1,000, 000& *23| 2,000
= 1,000
e 1,000
HdEY =2 HEOE2 EHAY 50,000 0 50,000
< 25,000
s 25,000
307 glz2tol & 50,000 0 50,000
< 25,000
s 25,000
02 It M AHE L 50,000 0 50,000
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